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Subject: ENGLISH 

I. Read the comprehension and answer the following. 
The Growth of Online Learning Platforms 
1. In the past decade, technology has transformed the way people access education, giving rise to online 
learning platforms. These platforms offer flexibility, affordability, and accessibility to learners across the 
globe. They not only focus on delivering knowledge but also emphasize skill development through 
interactive courses and digital resources. 
2. A well-known example is “EduPath,” founded by two young entrepreneurs. The platform began with 
offering short courses in computer programming and has now expanded into areas such as digital 
marketing, graphic design, and foreign languages. Initially, EduPath struggled with issues like limited 

internet access in rural regions, lack of trust in online certification, and stiff competition from traditional 
institutions. However, its focus on affordability and quality content helped it gain recognition worldwide. 
3. Studies reveal that online learning is especially attractive to working professionals and students 
seeking flexible schedules. Governments and organizations are also promoting e-learning by providing 
subsidies, training programmes, and digital infrastructure. These initiatives highlight how technology 
and education can combine to create equal opportunities for diverse groups of learners. 
4. Ultimately, online learning platforms demonstrate that education can be democratized through 
innovation. By providing access to knowledge at one’s own pace and place, they inspire lifelong learning. 
Their success proves that quality education need not be limited by physical classrooms. 
5. Despite their rising popularity, online platforms still face the challenge of ensuring learner 
engagement and credibility. Many learners drop out due to lack of motivation, while employers 
sometimes question the value of online certificates. To overcome these hurdles, platforms are investing 
in interactive tools, AI-based progress tracking, and partnerships with universities to enhance 
recognition. As awareness spreads, online learning is expected to become a mainstream mode of 
education for future generations. 
Now answer the following. 
a) After starting with programming courses, which three new areas did EduPath expand into? 
b) Online learning platforms aim not only to provide ______ but also to emphasize ______. 
c) Why is online learning particularly attractive to working professionals and students? 
i. It is cheaper than all traditional education  
ii. It provides flexible schedules and accessibility 
iii. It guarantees instant employment 
iv. It replaces all forms of classroom teaching 
d) What does the statement “quality education need not be limited by physical classrooms” imply? 
e) In your opinion, why is learner engagement considered one of the biggest challenges for online 

platforms? 
f) Which of the following BEST reflects the role of online learning platforms? 
i. They make education accessible and skill-based through innovation 
ii. They eliminate the need for teachers 
iii. They compete only with rural schools 
iv. They provide entertainment rather than education 
g) What does the word “credibility” mean in the context of online learning? 
h) From the word “education,” form another word used in the passage that refers to equal access for 

learners. 
II. Imagine you are Evelyn Glennie. Today, after performing before a huge audience, you are reflecting 
on your journey of overcoming your disability and proving that music can be felt through the heart. 
Write a diary entry in 100–120 words expressing your emotions and determination. 
III. Write a descriptive paragraph in about 100–120 words on “A Rainy Day in Your Town/City”, 
highlighting the sights, sounds, and feelings you experienced. 
IV. Complete any ten of the following twelve tasks, as directed: 



(i) Fill in the blank by using the correct form of the word in the brackets, for the given portion of a letter. 
“Thank you for __________ (invite) me to the seminar. I am eager to attend.” 
(ii) Read the given sentence. Identify the error and supply the correction. 
The number of accidents have increased this year due to careless driving. 
| Error | Correction | 
(iii) Raj and Meena had a conversation about a library. Report Raj’s question. 
“Does this library remain open on Sundays?” 
(iv) Read the dialogue between Riya and her brother, regarding her homework. 
Riya: Can you please help me with my maths homework? 
Brother: Sorry, I am busy right now. 
Select the correct option to report the above dialogue. 
(A) Riya asked her brother that could he help her with her maths homework. 
(B) Riya asked her brother if he could help her with her maths homework. 
(C) Riya asked her brother that he must help her with her maths homework. 
(D) Riya asked her brother if he was helping her with her maths homework. 
(v) Fill in the blank by choosing the correct option, to complete the sentence taken from a book about 
animals. 
Every winter, bears __________ (migrate/immigrate/emigrate) to caves and sleep through the cold 
season. 
(vi) Identify and correct the error in the given line taken from a company’s advertisement. 
We provides best quality furniture at reasonable prices. 
| Error | Correction | 
(vii) Select the option that identifies the error and supplies the correction for the following line taken 
from an article. 
Plastic waste are one of the biggest problems of our time. 
(A) Plastic → Plastics        (B) waste → wastes 
(C) are → is                            (D) problems → problem 
(viii) Complete the given narrative with the correct option to fill in the blank. 
Last week, we went to the zoo and ________ many rare animals. 
(A) sees  (B) saw    (C) seeing   (D) had saw 
(ix) Report the dialogue between two classmates by completing the sentence. 
Nikhil: I forgot my notebook at home today. 
Aarti: Don’t worry, I will lend you mine. 
Nikhil told Aarti that __________. Aarti assured him that she would lend him hers. 
(x) Fill in the blank by choosing the correct option to complete the notice on a school notice board. 
All students are informed that the Inter-School Quiz Competition ________ on 15th August, 2025 in the 
auditorium. 
(A) is conducted (B) will be conducted  (C) conducted  (D) conducting 
(xi) Complete the slogan on “Clean India”, by filling in the blank with the correct option. 
Keep your city clean, keep your country green, and ________ a healthier tomorrow. 
(A) building   (B) builds   (C) build   (D) built 
(xii) Identify the error and supply the correction for the following note in a gadget manual. 

The battery need to be charged fully before first use. 
| Error | Correction | 

 

Subject: MATHEMATICS 

1-Simplify:  
56/7

52/3 . 

2-Rationalise the denominator of: 
1+√2

2−√2
 . 

3-Verify x =
1

2
 is a zero of the polynomial p(x) = 2x + 1. 

4-Without actually calculating the cubes, find the value of: 
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5-Write the quadrant in which it lies: (3, - 8) 
6-Write the coordinate of the points marked on the axes in the figure. 
7-Find whether (0, 2) is the solution of the equation x – 2y = 4 or not? 



8-Draw the graph of the equation represented by the straight line which is parallel to  
   the x - axis and 3 units above it. 
9-Given three distinct points in a plane, how many lines can be drawn by joining them? 
10-Consider the two ’postulates’ given below: 
   (i) Given any two distinct points A and B, there exists a third point C, which is between A and B. 
  (ii) There exists at least three points that are not on the same line. 
       Do these postulates contain any undefined terms? Are these postulates   
       consistent? Do they follow from Euclid’s postulates? Explain. 
11-Two lines AB and CD intersect each other at a point O such that  ∠ AOC : ∠ AOD = 5 : 7. Find all 
the angles. 
      
 
 
 
 
12-In Fig., if 𝑙 ∥ 𝑚, then find the value of x. 

 
13-Compute the value of x in of the figure:  14-In figure,  ∠ B < ∠ A and ∠ C < ∠ D.   
             Show that AD < BC. 
 
 
 
 
 
 
 
15-ABCD is a rhombus. Show that 
diagonal AC bisects∠ C. 
16-In Fig., PQRS is an isosceles trapezium. Find x and y.  
17-An isosceles triangle has perimeter 30 cm and each of the equal sides is 12 cm. Find the area of the triangle. 
18-Find the perimeter and area of a triangle whose sides are of length 2cm, 5cm and 5cm. 

 

Subject: PHYSICS 
1. What is the difference between gravity and gravitation. 
2. State Universal law of gravitation. Derive expression for force of gravitation between the two massive 

objects. 
3. Consider two objects A and B. what will happen to the value of G if the  
a. Sizes of the two objects are interested? 
b. Distance between the two objects is decreased? 
c. Objects are immersed in a water tank? 
d. Objects are taken in vacuum? 
4. A mass of 40 kg is attracted by a mass of 25 kg lying at a distance of 2 m from it with a force of 1.67 

x 10-8 N. find the value of G. 
5. The force which is needed to make an objects travel in a circular path is called 
a. Electrostatic force b. Gravitational force c. Centripetal force d. Centrifugal force 
6. If a man jumps out from a boat, the boat moves 
a. forward b. sideways c. backwards d. downwards 
7. an aeroplane taking off from a field has a run of 500 m. what is the acceleration and take – off 

velocity if it leaves the ground 10 seconds after the starts. 

 
Subject: CHEMISTRY 

1. Case based: 
During chemistry practical period, the teacher provided three liquid samples X,Y,Z to students for 
identification. Liquid X has a comparatively low boiling point. On heating, it vaporises completely 
without leaving behind any residue. It is being used increasingly as fuel in motor vehicles either alone 
or mixed with petrol. Liquid Y has a very high boiling point and it also vaporises completely on heating 



without any residue. Liquid Y is a conductor of electricity and used in making thermometres.  Liquid Z  
has a moderate  boiling point. On heating liquids that vaporise leave behind a white solid P which is 
used in cooking . The condensation of vapours from Z gives a liquid Q which turn copper sulphate to 
blue. 
i. Which of the following is an element?     a. X   b. Y   c. Z    d. X and Z. 
ii. Which liquid could be a mixture? Name the mixture. 
iii.Assertion: An element reacts with another to produce a new compound. 
Reason: It is a combination reaction. 
iv. Name liquids X,Y,Z , P and Q. 
v. Why liquid Q turns copper sulphate blue? Name this type of change. 
2. Differentiate the following: 
i.  Physical and chemical change ii. Saturated and unsaturated solution 
iii. Latent heat of fusion and latent heat of vaporisation iv. Evaporation and boiling
3. How will you prove that water vapour exists in the air? 
4. How does sweating help to keep our body cool on a hot day? 
5. Explain Tyndall effect  giving examples  and a suitable diagram. 
6. How can we convert a saturated solution into an unsaturated one? 
7. How will you justify that the following changes are chemical changes? 
i. gasoline burning         ii. heating of egg        iii. bread rising         
iv. Milk turning sour  v. sun-tanning 
8. Classify into metals, non-metals and metalloids: block of iron, oxygen, silicon, gold, chlorine, neon, 
aluminium, germanium, hydrogen. 
9. Assertion- Boiling point of sea water is more than 1000 C. 
    Reason- Soluble impurities increase the boiling point of water. 
10. Assertion: Medicines are easily absorbed by our body in colloidal form. 
     Reason: It is because they have large surface area and therefore absorbed easily. 

 
Subject: BIOLOGY 

II. Following questions consist of two statements – Assertion (A) and Reason (R). Answer these 
questions selecting the appropriate option given below:                   
(a) Both A and R are true and R is the correct explanation of A. 
(b) Both A and R are true but R is not the correct explanation of A. 
(c) A is true but R is false. 
(d) A is false but R is true.  
1. A: The nuclear membrane has pores and is double layered. 

R: Materials transfer from nuclear region to cytoplasm.  
2. A: Bone and cartilage are rigid connective tissue.  

R: Blood cells are formed in bone marrow.  
3. Which cells are responsible for carrying messages?  
    a) Blood  b) Neuron  c) muscle fibre  d) RBCs  
4. A person met with an accident in which two long bones of the hand were dislocated. What could be 
the reason?  
5. How does cork tissue act as a protective tissue?  
6. What are plastids? Which plastid would you expect in: a) Papaya  c) leaf   d)storage root 
 7. Draw a neat labelled diagram of: a) Nerve cell b) plant cell c) all three simple tissues 
8. What will happen if    a) the skin epithelium is not stratified. 
               b) stratified squamous epithelium lines the blood vessels. 
9.What happens to plants if their tips are removed? How meristems are classified?  

10. Give at least two examples in plants where similar phenomenon is used to gain of water.  

 
Subject: SOCIAL SCIENCE 

1. Explain the main features of the Constitution of France drafted in 1791. 
2. Write about the collectivisation programme of Stalin. 
3. Which ocean is named after India?  Give reason why it was named after India? 
4. Write any three features of the Shiwalik range. 



5. Why do educated parents invest more in their children's education and health? Explain with the a 
diagram. 
6. Write about any three Anti-poverty measures implemented by government. 
7. Why is Democracy considered as the best form of government? 
8. Describe the steps taken to form the Constituent Assembly of India. 
9. Why were reserved constituencies created by the makers of the constitution? How many seats are 
reserved for SC and ST in Lok Sabha? 
10. Give any two demerits of electoral competition? 
 

Subject:  ह िंदी (हितीय भाषा) 

प्रश्न 1.निम्ननिखित गद्यांश पर आधयररत प्रश्ननां के उत्तर दीनिए । (7) 

हमयरे िीवि में उत्सयह कय नवशेष स्थयि है। नकसी कयम कन करिे के निए सदय तैययर रहिय तथय उस कयम कन करिे में आिांद अिुभव करिय, उत्सयह कय 

प्रमुि िक्षण है। उत्सयह कई प्रकयर कय हनतय है, परां तु सच्चय उत्सयह वही हनतय है, िन मिुष्य कन कययय करिे के निए पे्ररणय दे। मिुष्य नकसी भी कयरणवश 

िब नकसी के कष्ट कन दूर करिे कय सांकल्प करतय है, तब निस सुि कन वह अिुभव करतय है, वह सुि नवशेष रूप से पे्ररणय देिे वयिय हनतय है। इसी 

उत्सयह के निए कहय भी गयय है, “सयहस से भरी हुई उमांग ही उत्सयह है।” निस कययय कन करिे के निए मिुष्य में कष्ट, दुुः ि यय हयनि कन सहि करिे की 

तयकत आती है, उि सबसे उत्पन्न आिांद ही उत्सयह कहियतय है। दयि देिे वयिय व्यखि अपिे भीतर एक नवशेष सयहस रितय है और वह है धि- त्ययग कय 

सयहस । यनद यही त्ययग मिुष्य प्रसन्नतय के सयथ करतय है, तन उसे उत्सयह से नकयय गयय दयि कहय ियएगय। इसी प्रकयर, युद्ध – के्षत्र में वीरतय नदियिे वयिे 

तथय दयय के निए वीरतय नदियिे वयिे भी अपिे-अपिे के्षत्र में उत्सयह कय कययय करिे वयिे हैं। 

फि की भयविय से उत्पन्न आिांद भी सयधक कमों की ओर हषय और तत्परतय के सयथ प्रवृत्त करतय है पर फि कय िनभ िहयाँ प्रधयि रहतय है, वहयाँ कमय-

नवषयक आिांद उसी फि की भयविय की तीव्रतय और मांदतय पर अविांनबत रहतय है। उत्सयह वयस्तव में कमय और फि की नमिी-िुिी अिुभूनत है, निसकी 

पे्ररणय से तत्परतय आती है। यनद फि दूरी पर नदियई पडे, उसकी भयविय के सयथ उसकय िेश मयत्र भी कयम यय प्रयत्न के सयथ-सयथ िगयव ि मयिूम हन, 

तन हमयरे हयथ-पयाँव कभी ि उठें  और उस फि के सयथ हमयरय सांयनग ही ि हन । 

(क) गद्यांश के अिुसयर, सच्चय उत्सयह नकसे कहय गयय है ? 

(i) िन मिुष्य कन िुशी प्रदयि करे 

(ii) िन मिुष्य कन कययय करिे के निए पे्रररत करे 

(iii) िन मिुष्य कन उत्सयनहत करे 

(iv) िन मिुष्य कन आिांनदत करे 

(ि) दयि देिे वयिे व्यखि के भीतर क्यय नवशेष सयहस हनतय है?

(i) सुि त्ययग करिे कय 

(ii) अिुभव त्ययग करिे कय 

(iii) धि त्ययग करिे कय 

(iv) ये सभी 

(ग) कथि (A) उत्सयह कमय और फि की नमिी-िुिी अिुभूनत है। 

कयरण (R) उत्सयह की पे्ररणय से तत्परतय आती है। 

कूट:   

(i) (A) और (R) दनिनां सही हैं तथय (R), (A) की सही व्ययख्यय करतय है। 

(ii) (A) और (R) दनिनां सही हैं, परां तु (R), (A) की सही व्ययख्यय िही ां करतय है। 

(iii) (A) सही है, नकां तु (R) गित है।(iv) (A) गित है, नकां तु (R) सही है। 

(घ) “सयहस भरी उमांग ही उत्सयह है” नकसके निए प्रयुि नकयय गयय है? 

(ङ) उत्सयहवद्धयि कय कययय नकस-नकस के द्वयरय नकयय ियतय है? 

प्रश्न 2.निम्ननिखित गद्यांश कन पढ़कर पूछे गए प्रश्ननां के उत्तर के निए सही नवकल्प कय चयि कीनिए। 

उपिेतय पे्रमचांद, िन अनिम दि कय िेतृत्व कर रहे थे 26 मयचय कन पैररच िौट आए। उन्नांिे हमयरी पहिी बडी बयधय िुांभु नहमपयत की खस्थनत से हमें 

अवगत करययय। उन्नांिे कहय नक उिके दि िे कैं प – एक ( 6000 मी.), िन नहमपयत के ठीक ऊपर है, वहयाँ तक कय रयस्तय सयफ़ कर नदयय है। उन्नांिे यह 

भी बतययय नक पुि बियकर, रखिययाँ बयाँधकर तथय झांनियनां से रयस्तय नचनित कर सभी बडी कनठियइयनां कय िययिय िे नियय गयय है। 

उन्नांिे इस पर भी ध्ययि नदिययय गे्लनशयर बफय  की िदी है और बफय  कय नगरिय अभी ियरी है। नहमपयत में अनियनमत और अनिनित बदियव के कयरण 

अभी तक के नकए गए सभी कयम व्यथय हन सकते हैं और हमें रयस्तय िनििे कय कयम दनबयरय करिय पड सकतय है। ‘बेस कैं प’ में पहुाँचिे से पहिे हमें एक 

और मृतु्य की िबर नमिी । ििवययु अिुकूि ि हनिे के कयरण एक रसनई सहययक की मृतु्य हन गई थी। निनित रूप से हम आशयििक खस्थनत में िही ां चि 

रहे थे। 

एवरेस्ट नशिर कन मैंिे पहिे दन बयर देिय थय, िेनकि एक दूरी से बेस कैं प पहुाँचिे पर दूसरे नदि मैंिे एवरेस्ट पवयत तथय इसकी अन्य शे्रनणयनां कन देिय। मैं 

भौांचक्की हनकर िडी रह गई और एवरेस्ट, ल्हनते्स और िुते्स की ऊाँ चयइयनां से नघरी, बफ़़ीिी टेढ़ी-मेढ़ी िदी कन निहयरती रही। 

(क) उपिेतय पे्रमचांद िे नकस बडी बयधय की खस्थनत से दि कन अवगत करययय? 

(i) बेस कैं प (ii) एवरेस्ट (iii) िुांभु नहमपयत  (iv) कैं प-एक 

(ि) गद्यांश में गे्लनशयर कन नकस रूप में वनणयत नकयय गयय है? 



(i) बफय  की पहयडी  (ii) बफय  की िदी  (iii) बफय  कय मैदयि  (iv) बफय  की झीि 

(ग) प्रसु्तत गद्यांश में िेखिकय िे एवरेस्ट नशिर के सयथ नकि ऊाँ चयइयनां कय उले्लि नकयय है? 

(i) ल्हनते्स और िांभु  (ii) िुते्स और िांभु  (iii) ल्हनते्स और िुते्स (iv) ल्हनते्स और बेस कैं प 

(घ) कथि (A) बेस कैं प पहुाँचिे से पहिे एक रसनई सहययक की मृतु्य हन गई। 

कयरण (R) निनित रूप से िेखिकय व अन्य पवयतयरनही के निए यह आशयििक खस्थनत थी । 

कूट:  

(i) (A) और (R) दनिनां सही हैं तथय (R), (A) की सही व्ययख्यय करतय है। 

(ii) (A) और (R) दनिनां सही हैं, परां तु (R), (A) की सही व्ययख्यय िही ां करतय है। 

(iii) (A) सही है, नकां तु (R) गित है। 

(iv) (A) गित है, नकां तु (R) सही है। 

(ङ) गद्यांश में िेखिकय िे एवरेस्ट पर नकतिी बयर पहुाँचिे कय उले्लि नकयय है? 

(i) पहिी बयर (ii) दूसरी बयर (iii) तीसरी बयर  (iv) चौथी बयर 

3.कयव्ययांश कन ध्ययिपूवयक पढ़कर निम्ननिखित प्रश्ननां के उत्तर निखिए। 

“रनहमि धयग पे्रम कय, मत तनडन चटकयय। 

टूटे से नफर िय नमिे, नमिे गयाँठ परर ियय।।” 

प्रश्न : 1.रहीम िे पे्रम के बांधि की नकससे तुििय की है। 

क) धयगे से ि) सूत से ग) िनरी से घ) तयर से 

2.एक बयर पे्रम सांबांध टूटिे पर क्यय हनतय है? 

क) ररशे्त पहिे िैसे हन ियते हैं ि) ररशे्त मधुर हन ियते हैं ग) नफर पहिे िैसे ररशे्त िही ां रहते घ) ररशे्त कटु हन ियते हैं 

3.गयाँठ पडिय मुहयवरे कय क्यय अथय है? 

क) मि कय स्वयथ़ी हनिय ि) मि में पे्रम बढ़िय ग) मि में भेद आ ियिय घ) मि कय मिबूत हनिय 

4.पे्रम के सांबांधनां कन नकस प्रकयर निभयिय चयनहए? 

क) तटस्थतय के सयथ ि) बहुत सयवधयिी के सयथ ग) झठू बनिकर घ) सच बनिकर 

5.कनव रहीम के अिुसयर पे्रम कय धयगय क्यनां िही ां तनडिय चयनहए? 

क) क्यनांनक वह धयगय बहुत मिबूत हनतय है ि) क्यनांनक उसमें गयाँठ िगयिे से सांबांध मिबूत हनते हैं 

ग) क्यनांनक उसमें गयाँठ िगयिय आसयि हनतय है घ) क्यनांनक एक बयर धयगय टूट ियिे पर उसे िनडिय कनठि हनतय है 

प्रश्न 4.निम्ननिखित में से नकसी एक नवषय पर नदए गए सांकेत नबांदुओां के आधयर पर 120 शब्नां में अिुचे्छद निखिए। 

(क) मेरे िीवि कय िक्ष्य 

सांकेत नबांदु 

• िक्ष्य कय अथय 

• निधययररत िक्ष्य 

• िक्ष्य निधययरण कय कयरण 

• िक्ष्य प्रयखि हेतु प्रययस 

(ि) भयरतीय सांसृ्कनत 

सांकेत नबांदु 

• ऐनतहयनसक परांपरय 

• भयरतीय सांसृ्कनत की मूि नवशेषतयएाँ  

• अिेकतय में एकतय 

(ग) आत्मनिभयरतय 

सांकेत नबांदु 

• आत्मनिभयरतय कय अथय 

• आत्मनिभयरतय सफितय कय मूि मांत्र 

• आत्मनिभयरतय ही िीिे की किय है। 

प्रश्न 5. परीक्षय के बयद अपिे कयययक्रम कय नववरण देते हुए अपिे नपतयिी कन िगभग 100 शब्नां में एक पत्र निखिए | 

अथवय 

छयत्रयवयस में रहिे वयिे अपिे भयई यय बहि कन ‘समय के सदुपयनग कय महत्त्व’ पर प्रकयश ियिते हुए िगभग 100 शब्नां में एक पत्र निखिए | 

प्रश्न 6.नचत्र में नदियए गए दृश्य यय घटिय कय कल्पियशखि के आधयर पर िगभग 100 शब्नां 

में वणयि कीनिए ।  

 

 

 

 

प्रश्न 7.आप समृद्ध/ समृखद्ध हैं तथय आपकी छनटी बहि कयम्यय की तबीयत िरयब है। उसे िॉक्टर कन नदियते हुए िगभग 100 शब्नां में सांवयद लिखिए। 

अथवय 

परीक्षय की तैययरी के निए पढ़यई की ओर ध्ययि देिे के सांदभय में मयाँ और पुत्र के मध्य के सांवयद कन िगभग 100 शब्नां में निखिए । 

 

 

 



Subject:  తెలుగు ( ది్వ తీయ భాష ) 

1.క ింది వ్యాసయలు చదువు రయయిండి . 
అ) హరతి విప్ల విం    ఆ) విదయార్థు లు - సింఘ సేవ    ఇ) వ్యరయా  ప్త్రకిలు 
2. సవచఛభార్త్ కయర్ాకరమిం ఆవశ్ాకతను వివరసితా  మితరిడకి  లేఖ రయయిండి.  
3. ఈ క రింది ప్దయాలకు ప్ిత్రప్దయర్ుములను రయయిండి.  
అ ) విమల యశోనిధీ ప్ుర్థష వృతా…….. 

ఆ) నుతజల ప్ూరతిింబులగు నతతరలు… 

ఇ) అలల న కయలవరా్కుడు నయ్యా డ గ ింప్ున్….. 

4. ఈ క రింది ప్శి్నలను చదవిి జవ్యబులు రయయిండి. 
అ) శ్రర కయశ్రనయధుని నయగశే్వర్రయవు గయరి విశిషట  వాక ాతవిం ఎట్టటది?  

ఆ) హరవిిలుల  పయఠింలో దయశ్ర్థీ చీకట్టని వరిణించిన తీర్థలో మీర్థ గురిాించిన విశేషయలను వ్యియిండి? 

 ఇ) దశే్భకా క ిండయ వ్ ింకట్ప్పయా గయరి పయఠిం సయరయింశయనిన రయయిండ?ి 

 
 
 

Subject: संस्कृतम् (हितीय भाषा) 

1. शेमुषी (सकू्तिमौक्तिकम्-भ्रान्तोबालः) दश प्रश्नानाां प्रश्नक्तनमााणम् लेखनाभ्यसः | 

2.पञ्चवाक्याक्तन सांस्कृते अनुवादयत | 

3. क्तदनद्वयस्य अनुपक्तस्िक्तत क्तवषये प्रधानाचायं प्रक्तत एकां  सम्पणंू पत्रां क्तलखत | 

4.दश कारक- उपपद क्तवभक्ति वाक्याक्तन क्तलखत | 

5.एकां  घटनाक्रमां क्तलखत (भ्रान्तोबालः) | 

 
 


